s o A phép trir phan s6 (phén s6 thich hop) (phan s6 khong
& da
ung)

Tén: Ngay thang: Piém:
> 1. o1
6 3 2 4
6 _1_ 7_4_
7 3 4 8
7ol T_6_
6 8 5 5
3_2_ 6_3_
6 5 5 8
> 0 _ T_3_
4 9 8 5
4 4 5 4
3 8 6 7
L 7_3_
3 6 5 7
33 5_2_
2 7 3 5
6 3_ 5_2_
5 9 4 8
>3 7_2_
2 7 9 3
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5 p A phép trir phan s6 (phén s thich hop) (phan sé khong
o =Y ding)

Tén: Ngay thang: Piém:
5 1 1 1 1 1

6 3 2 2 4 4

6 1 11 7_4_5_11
7 3 2] 4 8 4 4
7_1_25_11 7 6 1

6 8 24 24 5 5 5

3. 2_ 1 6 3_33

6 5 10 5 8 40
S_6_ 7 7_3_11

4 9 12 8 5 40
445 5 4_1

3 8 6 6 7 42
(B 7.3_4

3 6 6 5 7 35

3. 5_ 1 > 2_b_ .4
2 7 14 3 5 1 15
6 3 13 5_2_1

5 9 15 4 8
5_5_25_1n 7 2 1

2 7 14 14 9 3 9

www.snowmath.com


https://www.snowmath.com

